UGC-JULY-16 PAPER-1 10.07.2016 Set :- A Date.04/11/2016 Pg. 1
SUBJECT CODE & NAME: -

|ONO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| ONO |KEY| QNO |KEY|

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,384,G=1,2,3&4 ,H=2&3,1I=2&4,J=2,3&4 ,K=3&4



UGC-JULY-16 PAPER-1 10.07.2016 Set :- B Date.04/11/2016 Pg. 2
SUBJECT CODE & NAME: -

|QNO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| QONO |KEY |

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,384,G=1,2,3&4 ,H=2&3,1I=2&4,J=2,3&4 ,K=3&4



UGC-JULY-16 PAPER-1 10.07.2016 Set :- C Date.04/11/2016 Pg. 3
SUBJECT CODE & NAME: -

|QNO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| QONO |KEY |

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,384,G=1,2,3&4 ,H=2&3,1I=2&4,J=2,3&4 ,K=3&4



UGC-JULY-16 PAPER-1 10.07.2016 Set :- D Date.04/11/2016 Pg. 4
SUBJECT CODE & NAME: -

|QNO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| QONO |KEY |

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,384,G=1,2,3&4 ,H=2&3,1I=2&4,J=2,3&4 ,K=3&4



UGC-JULY-16 PAPER-1 28.08.2016 Set :- A Date.04/11/2016 Pg. 5
SUBJECT CODE & NAME: -

|QNO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| QONO |KEY |

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,384,G=1,2,3&4 ,H=2&3,1I=2&4,J=2,3&4 ,K=3&4



UGC-JULY-16 PAPER-1 28.08.2016 Set :- B Date.04/11/2016 Pg. 6
SUBJECT CODE & NAME: -

|QNO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| QONO |KEY |

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,384,G=1,2,3&4 ,H=2&3,1I=2&4,J=2,3&4 ,K=3&4



UGC-JULY-16 PAPER-1 28.08.2016 Set :- C Date.04/11/2016 Pg. 7
SUBJECT CODE & NAME: -

|QNO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| QONO |KEY |

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,384,G=1,2,3&4 ,H=2&3,1I=2&4,J=2,3&4 ,K=3&4



UGC-JULY-16 PAPER-1 28.08.2016 Set :- D Date.04/11/2016 Pg. 8
SUBJECT CODE & NAME: -

|QNO |KEY|QNO |KEY|QNO |KEY|QNO |KEY| ONO |KEY| ONO |KEY| QONO |KEY| QONO |KEY |

9=No option is correct or the question is wrong, A=1&2,B=1&3,
C=1&4,D=1,2&3,E=1,2&4,F=1,384,G=1,2,3&4 ,H=2&3,1I=2&4,J=2,3&4 ,K=3&4



